PaznoxxeHne Ha MHOXUTENN=NPUBEZEHNE M0AOOHbIX

1) 7x — 3x = 4x (3T0T BUA Pa3/10XEHUS Ha3bIBAETCS <NpuBeAEHNE Mogo6HbIX
cnaraembix» , «n0406HbIMW»  HAa3bIBAlOTCS OAHOYJEHbI C OAMHAKOBOM
6yKBEHHOM 4acTbiO)

2) 55xN127yzN2 — 8zN2yxN127 + yzN\2xN127 = ...

rnpuBegeHne rnogobHbix c/1araemMbix
/X — 3x=x(7-3)=x*4=4x

7X — 3xy=x(7-3y)
/Xy — 3xy=xy(7-3)=xy*4=4xy

a*b+a*c=a*(b+c)

55xN127yzN2 — 8z 2yxN127 + 1*yz"2xN127 =

xN127yzN2(55-8+1)=x"127yz"2 48=48x"N127yz"2

55xN126yz"N2 — 8z 2yxN127 + 1*yzx"N127 =
xN126yz(55z-8xz+1x)



